SOFT QUAD FOLD TONNEAU
COVER

INSTALLATION INSTRUCTIONS

8
1

M8 x 60mm Allen Combo Bolts
5mm Allen Key

CONTENTS TOOLS REQUIRED

(1) Tonneau Cover Exterior Detailer

(2) Rear Clamp Assembly Microfiber Cloth

(2) Middle Clamp Assembly 5mm Allen Key (Provided)
(2) Front Clamp Assembly (LH/RH)

(8)

(1)



STEP1

Clean the vehicle bed bulkhead and side rails using exterior detailer and a microfiber to remove
any dirt/debris.

Apply the included weatherstripping to the bulkhead and side rails to limit the possibility of water
intrusion, if desired.

STEP 2

Place the tonneau cover onto the front of the vehicle bed. Un-fold the tonneau cover towards the
rear of the vehicle, and center the tonneau cover to the vehicle bed. Once centered, gently fold the
tonneau cover to the front of the vehicle to begin mounting clamp installation.



QA G

STEP 3

From under the front of the tonneau cover, secure the tonneau cover using the front bracket
assembly. Fit the top lip of the bracket into the tonneau cover rail, and fit the bottom of the
bracket assembly behind the bed rail. Tighten into place using (1) M8 x 60mm Allen bolt.

Repeat this step for the opposite side of the vehicle.

STEP 4

Un-fold the tonneau cover to the 3rd panel to locate the latch location relative to the bed. Once
identified, fold the panel upwards and fit the middle clamp assembly to the vehicle bed rail. Tighten
the (2) M8 x 60mm Allen bolts evenly to secure the clamp into place.

The 3rd panel will latch to this clamp assembly as shown above.

Repeat this step for the opposite side of the vehicle.



STEP S

Fit the rear clamp assembly around the bed rail as rearward as possible. Secure the assembly into
place using (2) M8 x 60mm Allen bolts.

The 4th panel will latch to the rear clamp rail. If the tonneau cover does not align to the bracket
assembly, loosen all hardware and adjust the tonneau cover closer to the vehicle cab and
re-tighten all hardware.

STEP 6

Installation is now complete.



	T587033 - Barricade - Soft Quad Fold Tonneau Cover-01
	T587033 - Barricade - Soft Quad Fold Tonneau Cover-02
	T587033 - Barricade - Soft Quad Fold Tonneau Cover-03
	T587033 - Barricade - Soft Quad Fold Tonneau Cover-04

